

$$\frac{a}{y} = \frac{0}{f} \Rightarrow \frac{a'}{y} = \frac{1+\sqrt{5}}{r} \rightarrow a' = \frac{(1+\sqrt{5})y}{r} \rightarrow S = y \times \frac{(1+\sqrt{5})y}{r} \times y$$

$$y' \left( \frac{1+\sqrt{5}}{r} \right) \Rightarrow S = \frac{0}{f} y a y = \frac{0 y'}{f} \frac{\left( \frac{1+\sqrt{5}}{r} \right) y'}{\frac{0 y'}{r-f}} = \frac{r+2\sqrt{5}}{5}$$

۱

$$y \sqrt{a} \rightarrow a \sqrt{a^2+y^2} \quad \frac{\sqrt{a^2+y^2}}{a} = \frac{1+\sqrt{5}}{r} \rightarrow \frac{a^2+y^2}{a^2} = \frac{4+2\sqrt{5}}{r^2}$$

$$r a^2 + r y^2 = a^2 + y^2 + 2\sqrt{5} a y \Rightarrow (r y^2 - y^2) + (r a^2 - a^2) = 2\sqrt{5} a y \rightarrow y' = \frac{(1+\sqrt{5})}{r} a'$$

$$\frac{a'}{y'} = \frac{a'}{\frac{a'}{\frac{1+\sqrt{5}}{r}}} = \frac{r}{1+\sqrt{5}} \times \frac{1-\sqrt{5}}{1-\sqrt{5}} = \frac{\sqrt{5}-1}{r}$$

۲

$$r a + \sqrt{r a^2 + r a} = r - \sqrt{r a^2 + r a} \Rightarrow r - r a \rightarrow r(1-a) = r a^2 + r a = r a^2 + r - r a \rightarrow$$

$$r a^2 - r a + r = 0 \Rightarrow a^2 - r a + r = 0 \Rightarrow (a-r)(a-1) = 0 \Rightarrow a = \frac{r}{1}, \frac{r}{r} = \frac{r}{r}$$

$$a = r \Rightarrow r + \sqrt{r+r} = r \Rightarrow 1 + \sqrt{2} = 1 \Rightarrow a = \frac{r}{r} \Rightarrow \frac{a+1}{a} = 1 + \frac{1}{r} = \frac{r+1}{r}$$

$$\frac{r}{r} = \frac{r+1}{r}$$

۳

$$\frac{\sqrt{a+1}}{\sqrt{a-1}+r} - \frac{\sqrt{a+1}}{r-\sqrt{a-1}} = \frac{a-1}{a-1} \rightarrow \frac{(r-\sqrt{a-1})(\sqrt{a+1}) - (r+\sqrt{a-1})(\sqrt{a+1})}{a-a+1} = \sqrt{a-1}$$

$$\frac{r\sqrt{a+1} - \sqrt{a^2-1} - r\sqrt{a+1} - \sqrt{a^2-1}}{1-a} = \sqrt{a-1} \Rightarrow \frac{-2\sqrt{a+1} \times \sqrt{a-1}}{1-a} = \sqrt{a-1}$$

۴

$$r\sqrt{a+1} = 1-a \rightarrow a-1 = \frac{r\sqrt{a+1}}{t} = 0 \rightarrow t-1-1 = r t \Rightarrow t^2 - r t - 1 = 0$$

$$\frac{r+\sqrt{5}}{r a} = \sqrt{a+1} \rightarrow \frac{r+\sqrt{5}}{r a} = \frac{r \pm \sqrt{5}}{r a} \Rightarrow \frac{r+\sqrt{5}}{r a}$$

۵

$$\frac{1}{\sqrt{r-a}+r} - \frac{1}{r-\sqrt{r-a}} = \frac{r+a}{0\sqrt{r-a}} \rightarrow \frac{r-\sqrt{r-a}}{r-\sqrt{r-a}} = \frac{r-a}{0\sqrt{r-a}}$$

$$\frac{-r\sqrt{r-a}}{a+r} = \frac{(\sqrt{r-a})^2}{0\sqrt{r-a}} \Rightarrow -1 = a+r \Rightarrow a' = -1r$$

۵

$$\frac{1}{a^r} + \frac{1}{(1-a)^r} = \frac{14}{9} \quad \left(\frac{1}{a} + \frac{1}{1-a}\right)^r - \frac{r}{a(1-a)} = \frac{14}{9} \rightarrow \frac{1}{a(1-a)} = t$$

$$t^r - r t = \frac{14}{9} \rightarrow +1 \rightarrow t^r - r t + 1 = \frac{14}{9} \rightarrow (t-1)^r = \left(\frac{14}{9}\right)^{\frac{1}{r}} \rightarrow t-1 = \frac{14}{9}^{\frac{1}{r}}$$

$$t-1 = \frac{14}{9}^{\frac{1}{r}} \quad t = \frac{14}{9}^{\frac{1}{r}} \rightarrow \frac{1}{a-a^r} = \frac{14}{9}^{\frac{1}{r}} \rightarrow \mu = 14a - 14a^r \rightarrow 14a^r - 14a + \mu = 0 \rightarrow \frac{\mu}{a} = \frac{14}{9}^{\frac{1}{r}}$$

$$|t+1| = \mu \text{ (b) } \quad t = \frac{14}{9}^{\frac{1}{r}} \rightarrow \frac{1}{a-a^r} = \frac{14}{9}^{\frac{1}{r}} \rightarrow \mu = -10a + 10a^r \rightarrow 10a^r - 10a + \mu = 0 \rightarrow \frac{\mu}{a} = \frac{14}{9}^{\frac{1}{r}}$$

$$\sqrt{a + \sqrt{-a^r + 10a^r + 10a - 1}} + \sqrt{a^r + \sqrt{-a^r + 4a - 1}} = a + \mu$$

$$a^r (1-a) - 10(1-a) \geq 0 \rightarrow (1-a)(a^r - 10) \geq 0$$

$$-a^r + 4a - 1 \geq 0 \rightarrow a^r - 4a + 1 \leq 0 \rightarrow (a-r)(a-r) \leq 0$$

$$\textcircled{1} \cap \textcircled{2} = \left\{ \frac{14}{9} \right\} \rightarrow \mu \text{ (b) } \Rightarrow a = \frac{14}{9}^{\frac{1}{r}}$$

$$y = |a+r| + |a-1| \quad \mu y + a = 14 \rightarrow |a+r| + |a-1| = \frac{14-a}{\mu}$$

$$\mu |a+r| + \mu |a-1| - 14 + a = 0 \rightarrow \frac{-\mu}{-a-r} \left| \frac{a-1}{\mu} \right| \mu - 14 + a = 0$$

$$a = \frac{14}{\mu} \rightarrow \frac{a}{y} = \frac{14}{\mu}$$

$$AB = \sqrt{(r+r)^2 + (0-14)^2} = \mu \sqrt{1}$$

$$y = \frac{1}{\mu} a + r \quad y \sqrt{a^r - 4a + 1} = |a-r|$$

$$a-r = \frac{1}{\mu} a + r \rightarrow a = \frac{14}{\mu}, y = 4, a \geq \mu$$

$$r-a = \frac{1}{\mu} a + r \rightarrow a = 0, y = r \rightarrow a \leq r$$

$$BC = \sqrt{r+r} = \sqrt{14}, \quad AC = \sqrt{14 + \mu^2} = 4\sqrt{r} \Rightarrow \frac{\mu \sqrt{14 + 4\mu^2}}{r} = 14$$

$$\text{is } \mu \rightarrow a \quad \text{is } \mu \rightarrow a+9 \rightarrow \frac{1}{a} + \frac{1}{a+9} = \frac{1}{\mu} \rightarrow \frac{a+9+a}{a^2+9a} = \frac{1}{\mu}$$

$$(a+9)\mu = a^2+9a \quad \mu a + 14 = a^2+9a \rightarrow a^2 - \mu a - 14 = 0$$

$$a = \mu y \rightarrow \text{is } \mu \rightarrow \mu y h \quad (a-\mu y)(a+0) = 0$$